8.10

The Law of Cosines













1) Find the indicated missing side.

X 45 cm

52 ¢cm



2) Find the indicated missing angle.

20 em ‘ 15 em

34 ¢cm



All lengths are in centimeters.
1. I~

39°




All lengths are in centimeters.

2., W=




Find each angle to the nearest degree.

3. mZA~ @

msB ~ 51 70

ms(C =




Find each angle to the nearest degree.
4, msLS =

msLU =

265
mSV = 192
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5) A parallelogram has side lengths 22.5 cm and 47.8 cm.
One angle measures 116°. What is the length of the
shorter diagonal?



